30 20000

O

un

gobboboooobbbooobbboooobobooon
gooobooooooo

1. 00200000 z=200000000000000

ogoodood

O010(z—2)(x+2)=0

02022 —4x+4=0

0302%+6x+8=0

04022 +22+2=0

ooooooooon

2. 0000000000000 0O0O0DOO0OO0ODOODODOOd

ooo

01022 +4x=00000000000000000

goboboooooon
0202%2+10x+21=00000000000000000

uogoboooaoooo
030 (zx+1)?=90000000000000000000

O0o0000ooo0oon
0402% +42—-15=00 (z+a)*=b00000000
0000D0000000000

gooooooogog
3. 00 200000000000
010222 —8x—24=0

gooboooooon

1
DQDzL‘Q—x—FZ:O

Dooooooogoo
030 (z—6)2=3

gooooooooo

040(Bx+1)2-10=0

0000000000
050 (x —2)2 = (x — 2)(2x + 1)

goobooooooon
4.20000 22 +ax—-6=00 100002000000
c00O00O00O0 10000DO0O0ODOODO

gooboooon
5.00 120000 ABOOO PODODODUOAP,PBO 10

O0D00O00o0o0obob200000000000 8000

0000 APODODOOOOOOAPOOOD 2000 20
0000000000000 000 AP>PBOOOOO
00 pobhooooobooo

P

goobooogn

6. 0000300000000 DO0ODLDOOOODbDObOOOO
0020000 200040000000000 300
O020000000000000DO0O0 200000
goooogogon

gooboooon




